A7 227 FAPF I BEERES -8 4 28 id¥ sy

_E T Rl Wt
-~ HE-58% (3%50’#1009)
1. (D) q‘}%];:,k:mﬁﬁ:y X s y=x243 y=x2—4 L LT G F FRA; o B AN y=6 FRF; A H
B y=x2 H| A2 ASB A B B y= x2+3mrﬁf] 522 C~D A gh o 82 y=x2—4 hif] 75 %
*E-~Fa2.> % AB ~ CD ~ EF = %Elﬁ)» Behs o)

=

(A)AB>CD>EF (B)AB>EF>CD (C)CD>AB>EF (D)EF > AB>CD

2.(B) 4ol » TG b3 - PR EP R G - WP RE - P T RERL D Sfy=X 5
B Pend s (2,4) c FHpLEP Pt v FBBE FRFARORERIEL (7,2
) R EEP R L e 2 (97 AR T )

(A)(9,4) (B)(9,6) (C)(10,4) (D) (10,6) -
3. (D) "B 58— A= B HE B R ?

(A)= 44 (B)z b4 (CHl)e dfr (D)m &4 o
4. (D) 4rB A< FhF i 4 Rl B FrEELa e A RS b Platbhant@ie?
10 6065 76 90

| —

10 20 30 40 50 60 70 80 90 100 & (53
(A)16 (B)% (C)45 (D)5«

5. (C) = &t sk y= (x+1)2—1%]%;'1’14;%%&%;31511@—'5? (A)x=1 (B)y=-—1 (C)x=
-1 (D)y=1-

6. (B) - P4z AR X /= 5 5cm- % 5 10cm- plE £ 6 # 5 % > cm?? (A)1007r (B)1507
(C)2007r (D)2507 -



7.(A) - 43 %73 3 A GET 4565/ > & ] PR B 3BT BT w ih 50

v RSB 25k > - B Bk B
o FAEIN 25 A o (lehd

I LR ms L ke % 2% M5B LR
R o e ;’ﬁ%}kg?m}g}lﬁ Pl s gz m#kch 6

1 1 1 1
5 <B)Z (C)g <D>EO

8.(C) 4l 5 Slicy—al+bx+c AL BT & + chF7, > BlF x=0FF » 14 uchad Bcid 5 in 9

9

10

11

12

13

14

15

16

(-1

y
, 0)

(=3, —8)
(A)—1 (B)0 (C)—2 (D)8-

o)
(0, —2)

y=ax*+bx+c

. (B) "HBlY T A 5 T 2R- B2 S Bieeh Rl A 9

y
3

0

=

(A)y=-3 (x—1)> (B)y=-3 (x+1)*> (C)y=3(x—1)*> (D)y=3 (x+1)?-

1

(D) TAE D K Sl g P BRI R D (A)y=—§x2+1 (B)yzsxz—% (C)y=

2x+3 (D) y=—x—

o

Wl

(C) FR7PF LB BIF 29 sk T ~3 5L 647 o £ p KoY pP—3f > T Fopiphn 7 cnfh f 4
F o4 BHLzkengs S S 2 (97, AR (A)% (B)% (C)% (D>2i1°

(C) ¢ - 23 & G # 5 216Ccm? > Pt 1
(D)8-

S E L 5o em? (A)2 (B)4 (C)6

(B) 7-BEdeke s> @ - BRG O L L 18 HP X - Biple ihi 2352 %

£ 5180 BB & herd Behk B s

59?2 (A)54 (B)72 (C)90 (D)108-

. (A) - B Fl4 ek o l}ﬂﬂjﬁﬂijié 5048 flea BERB BT E5 12048 ARG Flem 7}% :
flo 52a9efHF=2 (A)5:12 (B)5:24 (C)5:6 (D)1:1-
C(A) ARG - BE SRS 2% ST B 5 BE A AL 9

E

D,

A

(?")AD (¢)DH (F)EH (°)HF

(A)? ~p~~ (Ble ~pg~7 2

(*)CD (& )BD
(C)E"ﬁ"’ (D)L\ﬁ\”o

(A) ZEPFIEGFIERA AT P E O REA vl TEA RS EFEUSFUE 0 B o © R
A i 3~b Al B - L Bl RaeA v 3 A il B9



6|5
A A
(C)5+ (D)4 + -

17. (A) T §IJ ‘%- 7 i[%.: = Syﬁ'{ﬁjg‘]ﬂﬁ s R — l/[a; Ex,ﬁ';;é._x:z Bé’:qﬁ ﬁ’\_’\ @-‘3? [92 E/?'JI ]
(A)[ (B[ » (O

(2,,-3)
/”\\

2,3) \/
) (2,3) \ (2,3)
Moy ¥ 0 x X "

IO A

(A)7+ (B)6+

18.(B) ::i&'ﬁ”iy:—% (x—2) 240 %n<0 R WH7 i 3

i
0] X
(2,n)
(B) y (C) y (D) y
A A A (2,n>
(0] (2,n)X \/ e X
(2,n)
o) »X

19. (C) 4B "A~BAu s y=x>+A8> ¥ AB Ly#ho £ AB =6 BB R AB «h> 28 % » 2 91,
AR )

Io) X

(A)y=3 (B)y=6 (C)y=9 (D)y=36-
20. (B) M*tk ~ b ficnfcit > Tl X 4?2 (A)RG 2 ¥%=47 (B)j 8®a (C)f 9
BEE (D)} 16154 -



